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68) .g 9aqEs ‘o 990 RUQS 9°08 999 99 |

‘G 9a o 98
A, Qe 1. SSIQSE sl
B. 699 Il fIRed 9
C. 2l Il 85I 212
D. G9RISS IV. 99989 Sig

Q99 997 989 flp ULgs 969F 39 Aot
1.A-1,B-1,C-1I,D- IV
2.A-1,B-1,C-1lI,D- IV
3.A-ILB-IV,C-1,D-Il
4. A-IV,B-I,C-1, D=1l
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1. 1 [Option ID = 269]
2. 2 [Option ID = 270]
3. 3 [Option ID = 271]
4. 4 [Option ID = 272]
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2. 2 [Option ID = 274]
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[Question ID = 70][Question Description = 170_23_0DI_0OCT22_52_Q70]
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1. 1 [Option ID = 285]
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1. 1 [Option ID = 289]
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4. 4 [Option ID = 292]
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1. 1 [Option ID = 293]
2. 2 [Option ID = 294]
3. 3 [Option ID = 295]
4. 4 [Option ID = 296]
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[Question ID = 76][Question Description = 176_23_0DI_0CT22_S2_Q76]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]
3. 3 [Option ID = 303]
4. 4 [Option ID = 304]
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[Question ID = 77][Question Description = 177_23_0DI_0CT22_S2_Q77]
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2. 2 [Option ID = 306]
3. 3 [Option ID = 307]
4. 4 [Option ID = 308]
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[Question ID = 78][Question Description = 178_23_0DI_0OCT22_52_Q78]
1. 1 [Option ID = 309]
2. 2 [Option ID = 310]
3. 3 [Option ID = 311]
4. 4 [Option ID = 312]
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[Question ID = 79][Question Description = 179_23_0DI_0CT22_S2_Q79]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]
3. 3 [Option ID = 315]
4. 4 [Option ID = 316]
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[Question ID = 80][Question Description = 180_23_0DI_0CT22_S2_Q80]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]
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[Question ID = 81][Question Description = 181_23_0DI_0CT22_S2_Q81]
1. 1 [Option ID = 321]
2. 2 [Option ID = 322]
3. 3 [Option ID = 323]
4. 4 [Option ID = 324]
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[Question ID = 82][Question Description = 182_23_0DI_0CT22_S2_Q82]
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4. 4 [Option ID = 328]
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[Question ID = 83][Question Description = 183_23_0DI_0CT22_S2_Q83]
1. 1 [Option ID = 329]
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4. 4 [Option ID = 332]
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4. 4 [Option ID = 340]
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1. 1 [Option ID = 353]
2. 2 [Option ID = 354]
3. 3 [Option ID = 355]
4. 4 [Option ID = 356]
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[Question ID = 90][Question Description = 190_23_0DI_0CT22_S2_Q90]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]
3. 3 [Option ID = 359]
4. 4 [Option ID = 360]
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2. 2 [Option ID = 362]
3. 3 [Option ID = 363]
4. 4 [Option ID = 364]
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[Question ID = 92][Question Description = 192_23_0DI_0CT22_S2_Q92]
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[Question ID = 93][Question Description = 193_23_0DI_0OCT22_52_Q93]
1. 1 [Option ID = 369]
2. 2 [Option ID = 370]
3. 3 [Option ID = 371]
4. 4 [Option ID = 372]
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QILIY 6691 625 | AGT ¥ §Q HAL160 NgRY I99as
<490 GReen ab6ee LIRS 641, IRRIS VIS 58l ¢ 96R
g4l @1000108 950! S1a86Q 999 gaE | S8Rl 6lad
Al55 2809 FIFQIg 625m 69T FIBR NISIG PIFSI 89!
QRIS F1F | BedY 95agel 6 g4 fIe89 2199198
oG9 99F 90 F2l1 2IR 9SS fISaeein g4 geaIs
6eeldial 218 QIR 281 QU8 6088 21994 99190961 aia!
69EYR 27650 QIFl 29T



694 905 Q21 968 7
1. 881 RIEI9S G Qi RIIEa!
2. QIS 6 QUS ZISRISR)
3. 999 YISFUITE 6 FIGER TSSO
4, 9EGE9I 3 g4l PI909 FI9FAINE S04

[Question ID = 94][Question Description = 194_23_0DI_0CT22_S2_Q94]
1. 1 [Option ID = 373]
2. 2 [Option ID = 374]
3. 3 [Option ID = 375]
4. 4 [Option ID = 376]

5)
&9 296897 Q1090 aaseh 99890 aan G2

RUSIEA 8 UG ZIERIGE| 665 FLIN 689 68 98°
AISANGIA §@ AR FI6R HSQITR 666 95R 628
g62 216 1969 g4 9198¢ Mes Q109 909Ig 656 QG
gl G40 d8l @A9Ig 989 | 9 6918 AITERR 26 RITIS
AIRIY 6691 622 | MR ¥ JQ PAE0 HIgRY I9ga
405 F9F00 98654 6RIRUEE 64, 4RING BISI Sal @ F6
g4 @1e9Ias 95F! 819869 999 gaY | 58Tl 6qled
Al55 2899 HIE9Ig 6296m 698 WIBS WISIg RIS 29
QDKIES QIE | Zedy @FREe 6 gd Q1909 21992198
Q59 99F 968 921 2IE QI9S1E fIgaeeis g4 gealg
6ERITiR 216 QIR §61 QU8 60AE 2Iesys S9aI00s! Qial
680D 7601 QIEI ASHYR ]

SPEOF RISl AAG QI 2T 2
1. 619840 FQEeY 9564 68QIAIR
2. QIBRIA RISRESIR g8 ZeaIE 5TIals!
3. 59 Q19896 Qg
4. QU8 G AIGRAITIS AISAIST] 999 STRIDIS!

[Question ID = 95][Question Description = 195_23_0DI_0OCT22_52_Q95]
1. 1 [Option ID = 377]
2. 2 [Option ID = 378]
3. 3 [Option ID = 379]
4. 4 [Option ID = 380]

Topic:- 23_PARTC_S2



1)
&9 26897 Q1090 aaseh gggEen aan G2l

295 698 92 S9e9Ia60 2609 A9t B 2iE, Jeee
gigd, Gl 6 g9l 99 8RI8R | 999 986 095 8 GEReIa
gee | QIZY g955 98 GIURERSIg 188 6I'0 254
AIRIAYES 2GRS 3 627IGE ATES FRS IS4l I& Q64 |
gaea 80 099 o, 94, 916 997 AEQ A8 9FIg Al
ZI6RIAS 922 | 819 98 965890Ig BS 6922 | AgRE 6
FRRIA ARG 8% 4 7885 sdledisaiy |

4% edledusqig G2 Aklg QI9IaYes A8 g9l /899
609 85214 | 4 gI99 2RI 29 951468 Gl 6218

Q8291 SR 99 1 4 5960 67 99° R199 cRIRIEIIR 28T
2060 | 159 98 88 §E5I5 96° 919 KD9Ig gD SRR |
406 9ELI9 H65RE 6T 609E THIE |

299914 FIEG GERGI0 999 ?
1. 299914 €196 6 S980
2. 399914 S5 G0l 9GRI9 FeKIR
3. 399919 edigdung
4. 399914 95519 99

[Question ID = 96][Question Description = 196_23_0DI_0OCT22_52_Q96]
1. 1 [Option ID = 381]
2. 2 [Option ID = 382]
3. 3 [Option ID = 383]
4. 4 [Option ID = 384]

2)
&9 26897 FI090 aaseh gIYEen aae §a|

2N 640 REAR DYSFILEN 26HS AlGE 6 B, AceR
Sigd, 28 3 9ol 93 sRigh | 929 9846 5998l 6 aSRela
ge% | 9124 U959 98 GE4REReIg N88 6I'9 54
dIeIaYes 2iges 20 6299w 28465 Aa% ISl 98 S65 |
gqee 06 999 oo, 94, 919 997 9LQ A89Q 95918 ad
Z6RIRe 9521 | 810 98 6980619 BF 60024 | g6 6
FRGI0 9RAQ 0% &4 fdaa edindisai |

4% edledusqig 603 Akl AI9IAYes A8E Ol /391
608 982N | € ZI9I9 2S99 981458 BIg 629

Q8291 9gR 99 1 4 9965 6F 99° R199 cRRIETIR 28T
2066 | 169 €E 8ng 9IS 96° gRld 9591 g Q88 |
496 98919 H6SRIR 6F 6098 TRIE |

900 6dledlyg A8E FUR AU F65. 7
1. 2AGET FIRIA6%
2. REQI QISR
3. BEE ArIFsa
4 58| ARIFEH

[Question ID = 97][Question Description = 197_23_0DI_0OCT22_52_Q97]
1. 1 [Option ID = 385]



2. 2 [Option ID = 386]
3. 3 [Option ID = 387]
4. 4 [Option ID = 388]

3)
39 296897 91097 aaseh 999890 aaa §a|

2193 690 G291 TYLTIN6R 260 ARG B 2IE, AR
R4, GRl 6 g8 98 8818k | 928 986 095! 6 aEReIa
ge% | QIgY 9959 €& GIUREReIg 88 610 252
AIRIAYES 2GRS 0 627ISR AT6S AR5 MISEI 9& Q69 |
gaee 508 09 o, 94, 919 98° AgQ A599 [FRIQ Ay
2IsKIRS 99214 | 819 9 96e8R0Ig BY 6992 | AgRE 8
RGNS IINHQ BS B9 T899 cdiRHdYsaI |

4% 6dlndysaRig SR A QISITY6S AT ORId /T9Ig
609 85214 | 4 g91819 2RI 29 951468 GIg 6518

QEYSI TR 59 1 4 960 07 99° RIS 6RIREIR T
2060 | 158 98 279 8510 9C° ORI RESIg QAL QR |
496 9E9I9 F6CRR 0F 60RE THIE |

g4 QIe, fee 988 690 g5 RIde 969 7
1. RGIES
2. edlndigien gRa3
3. 2gR9 99
4, dgona 69

[Question ID = 98][Question Description = 198_23_0DI_0CT22_S2_Q98]
1. 1 [Option ID = 389]
2. 2 [Option ID = 390]
3. 3 [Option ID = 391]
4. 4 [Option ID = 392]

4)
&9 296897 Q1090 aaseh 99890 aan G2

291G 698 92T SYeIa6E 2689 gt B 21, 26ee
ggd, Gal 6 g9al 98 8RI8R | 9ag 986 G095 6 6EReIa
ge% | QIZY I959 9& GIURERSIg 88 610 254
AIRIAYES 2GRS 23 62FISF QATES FRS MISAl I& Q64 |
gq60 80 099 o, 94 919 99° 9EQ A830 95RIg Al
Z6RIRS 992 | 819 98 965800Ig 6T 692N | AGRE 8
FY6I0 90989 8% &9 Adaq edladisai |

4@ sdlngdueqrig SR AKrIA AILINY6E F89 9]id 99919
609 89214 | 4 g9I99 2RI 29 951468 GIg 6518

Q8291 IR 59 1 4 9966 67 95° K19 GRIRELIR 208
2066 | 998 ¥F a8g 92910 99° 991 S5I91g CAID SRR |
406 98919 F60RR 6F 60RE THIE |



GRG0 98] R0 0R9YT 6995 7
1. 2908 8 689 QRGIES
2. 6dlrdig aogsiea
3. 9965 G0 gegalg 989169
4, 59 9° WI9ES 9E94g RIS

[Question ID = 99][Question Description = 199_23_0DI_0CT22_S2_Q99]
1. 1 [Option ID = 393]
2. 2 [Option ID = 394]
3. 3 [Option ID = 395]
4. 4 [Option ID = 396]

5)
&9 296897 Q1090 aaseh 99890 aan G2

291G 698 92T SYeIa6E 2689 gt B 21, 26ee
ggd, Gal 6 g9al 98 8RI8R | 9ag 986 G095 6 6EReIa
ge% | QIZY I959 9& GIURERSIg 88 610 254
dILIAIEE ZIgRG 98 6901I9F TATER HRS ARSI 98 963 |
gq60 80 099 o, 94 919 99° 9EQ A830 95RIg Al
Z6RIRE S92 | 810 98 J69906I9 BF 6902 | g6 6
FY6I0 90989 8% &9 Adaq edladisai |

4@ sdlngdueqrig SR AKrIA AILINY6E F89 9]id 99919
608 QRN | 4 gRI9I9 29 29 J54E8 Bl 698

QE2S| 9gR 59 1 € 5965 07 ¥9° K19Q 6QIREAR 98T
2066 | 998 ¥F a8g 92910 99° 991 S5I91g CAID SRR |
<495 §TRI9 F6CE 0 6698 TRIE |

1918 6dIRdueTiNg Qg8 6990 7
1. 2998 B RFFIR TAKEE
2. 829 GOIR6LIG
3. 3999149 9196 F259
4, QIFYEFE0 AYRERTIR

[Question ID = 100][Question Description = 200_23_0DI_0CT22_S2_Q100]
1. 1 [Option ID = 397]
2. 2 [Option ID = 398]
3. 3 [Option ID = 399]
4. 4 [Option ID = 400]

Topic:- GP_220CT_S2_A



1)

Based on the data in the table, answer the five questions that

follow

The following table presents the dstails about the number of
candidates who appeared in an entrance exam and percentage (%) of
candidates whao qualified the exam from two states P and Q during the
years 2017-2021, Some values are missing in the table, and have to be

computed, if required.

Year-wise Distribution of Candidates in an Entrance Exam

State P State Q
e Appeared Qualified Appeared Qualified
2017 1800 60% 1520 30%
2018 2400 43% - 40%
2018 = 60% 1040 60%:
2020 1920 70% 200 70%
2021 1520 = 1320 -

In the context of number of qualified candidates from
State P in 2019, if the ratio of qualified male to qualified
female candidates is 7 : 5 and difference between qualified
miale and gualified female candidates is 204, then what is
the number of candidates who appeared in the exam?

1.2040
2. 1760
3.1700
4. 1800




[Question ID = 191][Question Description = 101_0_GP14_0CT22_S2_Q01]

AW N =

aIfereT § UeH BTET & ATYR R U4l & I ST :

FafaRag aifa® 4 2017-21 @ GH &l Wl P AR Q I 5ay
TiiE & JUE SEigan! & g SR e H g g4
Il SHIGaR! & Uiagd (%) & Sey H fagwo o g
IS 1 8 OH O &, A dic H1Gv9® &l df Sl
gi@ed P ol

ORI WIGTH SHGaR| &1 a9aR [9awol

gy | I[P IH Q

SURE[e SuRa g

2017| 1800 |60% | 1520 (30%

2018! 2400 | 43% = 409
2019, - 60% | 1040 |60%

2020| 1920 |70% | 800 |(70%

2021| 15200 | - | 1320 =

2019 p 399 § I00 SEIGANI &I 9 & 9GY |, TG
I GBul & Sl W) SEGaR! | AT 7:5 8§ SR 3w
68! 3R IR0 W1 SEGaR] @i 3 204 ©, O TiaT
Iuitg SEiiganl &1 9@ fddi 8 2

1. 2040

2.1760

3.1700

4. 1800

1 [Option ID = 761]
2 [Option ID = 762]
3 [Option ID = 763]
4 [Option ID = 764]



2)

Based on the data in the table, answer the five questions that

follow

The following table presents the dstails about the number of

candidates who appeared in an entrance exam and percentage (%) of

candidates whao qualified the exam from two states P and Q during the

years 2017-2021, Some values are missing in the table, and have to be

computed, if required.

Year-wise Distribution of Candidates in an Entrance Exam

State P State Q
e Appeared Qualified Appeared Qualified
2017 1800 60% 1520 30%
2018 2400 43% - 40%
2018 = 60% 1040 60%:
2020 1920 70% 200 70%
2021 1520 = 1320 -

Let & and B represent the number of candidates appearing
and gualifying from State Q in 2018 respectively. Let C and
D represent the number of candidates appearing and

gualifying from State Q in 2021 respectively.

1
if.ﬂ\ig33‘j% morethan Cand B:D=11:12 then whatis B

+ D?
1.1080
L1472
L1320
. 1136

[

Pl



aIfereT § UeH BTET & ATYR R U4l & I ST :

FafaRag aifa® 4 2017-21 @ GH &l Wl P AR Q I 5ay
TiiE & JUE SEigan! & g SR e H g g4
Il SHIGaR! & Uiagd (%) & Sey H fagwo o g
IS 1 8 OH O &, A dic H1Gv9® &l df Sl
gi@ed P ol

ORI WIGTH SHGaR| &1 a9aR [9awol

gy | I[P IH Q

SURE[e SuRa g

2017| 1800 |60% | 1520 (30%

2018! 2400 | 43% = 409
2019, - 60% | 1040 |60%

2020| 1920 |70% | 800 |(70%

2021| 15200 | - | 1320 =

AT fifere i 2018 &  Td § URIET H SURE R S0
JEcanl 3l U #R: A AR Bl 20121 HQ T §
gi&T § FUfRg IR I0ivl SEliean| &l 4E 8] FU%: C
3R D M i)

qG A, CH sa % WD § AW B:D=11:12%, T g+D P g

. 1090
. 1472
. 1320

. 1136

e -

Pl

[Question ID = 192][Question Description = 102_0_GP14_0CT22_S2_Q02]
1. 1 [Option ID = 765]
2. 2 [Option ID = 766]
3. 3 [Option ID = 767]
4. 4 [Option ID = 768]



3)

Based on the data in the table, answer the five questions that

follow

The following table presents the dstails about the number of
candidates who appeared in an entrance exam and percentage (%) of

candidates whao qualified the exam from two states P and Q during the

years 2017-2021, Some values are missing in the table, and have to be

computed, if required.

Year-wise Distribution of Candidates in an Entrance Exam

State P State Q
e Appeared Qualified Appeared Qualified
2017 1800 60% 1520 30%
2018 2400 43% - 40%
2018 = 60% 1040 60%:
2020 1920 70% 200 70%
2021 1520 = 1320 -

What is the ratie of candidates qualifying from P in 2017,
2078 and 2020 together to the candidates qualifying from

Q in 2017, 2019 and 2020 together?

1.432:

2.423

331

: 205
3.432:
4.200:

205
343



aIfereT § UeH BTET & ATYR R U4l & I ST :

FafaRag aifa® 4 2017-21 @ GH &l Wl P AR Q I 5ay
TiiE & JUE SEigan! & g SR e H g g4
Il SHIGaR! & Uiagd (%) & Sey H fagwo o g
IS 1 8 OH O &, A dic H1Gv9® &l df Sl
gi@ed P ol

ORI WIGTH SHGaR| &1 a9aR [9awol

gy | I[P IH Q

SURE[e SuRa g

2017| 1800 |60% | 1520 (30%

2018! 2400 | 43% = 409
2019, - 60% | 1040 |60%

2020| 1920 |70% | 800 |(70%

2021| 15200 | - | 1320 =

2017, 2018 IR 2020 § P09 § WIRTH ©a gaml
JHiigan @1 2017, 2019 3 2020 5 Q Io9 & §a 390
Jefigart ¥ @ 3 & 7

1.432:331

2.423:205

3.432: 205

4.200: 343

[Question ID = 193][Question Description = 103_0_GP14_0CT22_S2_Q03]
1. 1 [Option ID = 769]
2. 2 [Option ID = 770]
3. 3 [Option ID = 771]
4. 4 [Option ID = 772]



4)

Based on the data in the table, answer the five questions that

follow

The following table presents the dstails about the number of
candidates who appeared in an entrance exam and percentage (%) of

candidates whao qualified the exam from two states P and Q during the

years 2017-2021, Some values are missing in the table, and have to be

computed, if required.

Year-wise Distribution of Candidates in an Entrance Exam

State P State Q
e Appeared Qualified Appeared Qualified
2017 1800 60% 1520 30%
2018 2400 43% - 40%
2018 = 60% 1040 60%:
2020 1920 70% 200 70%
2021 1520 = 1320 -

Number of candidates who have qualified from P in 2017 is
what per cent more of less than the number of candidates

wha have gualified from Q in 20207

2

1. ?05_%

2
2 66-%

3

926%
3.927

4. 83_1 %

3




aIfereT § UeH BTET & ATYR R U4l & I ST :

FafaRag aifa® 4 2017-21 @ GH &l Wl P AR Q I 5ay
TiiE & JUE SEigan! & g SR e H g g4
Il SHIGaR! & Uiagd (%) & Sey H fagwo o g
IS 1 8 OH O &, A dic H1Gv9® &l df Sl
gi@ed P ol

ORI WIGTH SHGaR| &1 a9aR [9awol

gy | I[P IH Q

SURE[e SuRa g

2017| 1800 |60% | 1520 (30%

2018! 2400 | 43% = 409
2019, - 60% | 1040 |60%

2020| 1920 |70% | 800 |(70%

2021| 15200 | - | 1320 =

P U § 2017 H 30 SETRaN @) 98 Q Tod € 2020 F

Il gEiiGan @ 9Ea 4 o uiag ea a1 @ 6 2
2

1. ?05_%

662%
2. 663

926%
3.925

1
4. 835%

[Question ID = 194][Question Description = 104_0_GP14_0CT22_S2_Q04]
1. 1 [Option ID = 773]
2. 2 [Option ID = 774]
3. 3 [Option ID = 775]
4. 4 [Option ID = 776]



5)

Based on the data in the table, answer the five questions that

follow

The following table presents the dstails about the number of
candidates who appeared in an entrance exam and percentage (%) of
candidates whao qualified the exam from two states P and Q during the

years 2017-2021, Some values are missing in the table, and have to be

computed, if required.

Year-wise Distribution of Candidates in an Entrance Exam

State P State Q
e Appeared Qualified Appeared Qualified
2017 1800 60% 1520 30%
2018 2400 43% - 40%
2018 = 60% 1040 60%:
2020 1920 70% 200 70%
2021 1520 = 1320 -

if from state P, the total number of candidates who
qualified in 2020 and 2021 together is 2712, then what

percent of candidates remain unqualified from state P in

20217
1.109%
2.5%:
5. B%:
4.15%




aIfereT § UeH BTET & ATYR R U4l & I ST :

FafaRag aifa® 4 2017-21 @ GH &l Wl P AR Q I 5ay
oiie & guid orilcarl &1 9 AR ader g g4
Il SHIGaR! & Uiagd (%) & Sey H fagwo o g
IS 1 8 OH O &, A dic H1Gv9® &l df Sl
gi@ed P ol

ORI WIGTH SHGaR| &1 a9aR [9awol

gy | I[P IH Q

o £
|

SURESTT UG

2017| 1800 |60% | 1520 (30%

2018! 2400 | 43% = 409
2019, - 60% | 1040 |60%

2020| 1920 |70% | 800 |(70%

2021| 15200 | - | 1320 =

afE 2020 X 2021 T p 9T © GHET H ST SHIGARI BT
T GBI 2712 %, A1 PO © 2021 H oo ufowd seficar
S EUILEGE:

1.10%

2.5%

3.8%

4.15%

[Question ID = 195][Question Description = 105_0_GP14_0CT22_S2_Q05]
1. 1 [Option ID = 777]
2. 2 [Option ID = 778]
3. 3 [Option ID = 779]
4. 4 [Option ID = 780]

Topic:- GP_220CT_S2_B



1)

Which of the following learner characteristics may be
considered Relpful in designing effective teaching-learning
systems?

A, Prior experience of the learner in respect of the subject

B. Interpersonal relationships of the learmer with the
teacher

C. The Learner's economic background
D. Interest of the learner in-digital learning resources-
E. Motivational erientation of the learner

Choose the correct answer from the options given below:
1. A and Eonly
2. A DandEonly
3. A, Cand D only
4.4 C, DandE only

FmiaRag & d Ramdi &1 & fagarsi of nyrd f&iem -
ST wunferl & HYeend § 9eO® g o 9odi 8 7
A, fa9g & aR H el &1 4d - ed

B. & & iy RIamdl & siedaida® vay
c. Fgmif & enffe geyfE

D. framif @1 =i & fSforea wanH 7 B
£, et 91 IR - S=g@a

i o e faded 4 § 98] S 9 ;
1. Had A HRE
2. FadA DANE
3. @A C3RD
4 ®IAA C DIRE

[Question ID = 196][Question Description = 106_0_GP14_0CT22_52_Q06]
1. 1 [Option ID = 781]
2. 2 [Option ID = 782]
3. 3 [Option ID = 783]
4. 4 [Option ID = 784]

2) Which one of the following scalesis based on division in

100 units of equal size for 100 nyarks?
1. Neminal scale

=]

. Ordinal scale
3. Ratia scale
4, |nterval scale



fgfafad 5 | ®F9 991 100 3@ © 99F AR B1 100
SR fGUTe W ARG § 7

1. T THET

2. PHEE® GaH

3. 39T 95F

4. RIS GHF

[Question ID = 197][Question Description = 107_0_GP14_0CT22_S2_Q07]
1. 1 [Option ID = 785]
2. 2 [Option ID = 786]
3. 3 [Option ID = 787]
4. 4 [Option ID = 788]

3) For educational purpose, the learer with mental

retardation cannot be categorised as
1. Educable
2. Analytical
3. Custodial
4. Trainable

Jii&® uhieH & o 9-E deA ar fand @f Hafaiaa
H ¥ g =4 | dfigd Aol 10d] & §hdl g 7

1. Tremig

2, TaweiguTES

3, SRETED

4, Uigefig

[Question ID = 198][Question Description = 108_0_GP14_0CT22_52_Q08]
1. 1 [Option ID = 789]
2. 2 [Option ID = 790]
3. 3 [Option ID = 791]
4. 4 [Option ID = 792]

4 - i
) Given below are two statements, one is labelled as-
Assertion A and the other is labelled as Reason R

Assertion A : In reflective teaching methodology, a
teacher shares information to be memorised by students,

Reason R : Reflective teaching methodology inculcates
higher order thinking skills.

In light of the above statements, choose the correct
answer from the options given below :
1. Both A and R are true and R is the correct explanation
of A
2. Both A and R are true but R is NOT the correct
explanation of A
3. Ais true but R is false
4. Ais false but Ris true



TG Ty RU e o o AHHYE (A) SR gue &
TN (R) TRl T &

i@ (a) ; for=igel Rie ol & Ry Rarffai e
How B o are) ga-1 g Bl

@R (R) ; Tam=igef e Y S=wmig w0 Ma o
SgHarg el el

Iuled By & Heie J FAiied fasedl § 4 g8l IR 91
1. (4) 3R (R) S TR € AR (R), () FT el TG
2. (%A; 3R (R) T FE1 € TR (R), (4) T el oIReT 1&gl
|
3. (A) W6l § U (R) Wl Tel 6
4. (A) HE1 981 8 U0 (R) W1 B

[Question ID = 199][Question Description = 109_0_GP14_0CT22_52_Q09]
1. 1 [Option ID = 793]
2. 2 [Option ID = 794]
3. 3 [Option ID = 795]
4. 4 [Option ID = 796]

3) Which of the following is NOT a learmer-centric method of

teaching?
1. Project-based learning
2. Flipped classroom method
3. Chalk and talk method
4. Experiential learning

fgarad 5 9 o4 e o e -sisd Al Tsi e 2
1. GRETS-HTHTRE EE
2. Treg e faf
3. T1@ R Harg faf
4, SFHgE it

[Question ID = 200][Question Description = 110_0_GP14_0CT22_S2_Q10]
1. 1 [Option ID = 797]
2. 2 [Option ID = 798]
3. 3 [Option ID = 799]
4. 4 [Option ID = 800]

6) A major compenent of ethnographic research is

1. Simulation

2. Observation

3. Third party validation
4, Questionnaire survey



FolTier STHYH H TP W e Uew § ;
1. ST
2. &
3. gaig oo dgar
4. yTa Geam

[Question ID = 201][Question Description = 111_0_GP14_0CT22_S2_Q11]
1. 1 [Option ID = 801]
2. 2 [Option ID = 802]
3. 3 [Option ID = 803]
4. 4 [Option ID = 804]

7)

The grounded theory approach involves analysisof
1. The review of research articles
2, The texts of discourse
3. Quantitative data
4, Qualitative data

e fogrd Ui | [a@ e Bl 8 2
1. 9 AT & g FRiam
2. Uga & U8
3, AETES HHaT
4, TS HDal

[Question ID = 202][Question Description = 112_0_GP14_0CT22_52_Q12]
1. 1 [Option ID = 805]
2. 2 [Option ID = 806]
3. 3 [Option ID = 807]
4. 4 [Option ID = 808]

8) Which of the following are part of research ethics?

A, Protection of individual privacy
B. Informed consent

C. Veluntary participation

D. Coercive participation

E, Concealment

Choose the correct answer from the options given below,
1.A Band Conly
2.B, Cand D only
3.C, Dand Eonly
4. A DandEonly



FTa & B ST ATe & HFE 7
A, SfeTe ol T 34T

B. HgET wgH

C. Wies® GeHIiTal
D. HaUIS® HeHIRI
E. HTI0A

Id ot 714 [qwedl | 98l 3R 91341
1.BAAA, B IR C
2. A B, CHRD
3. §aAC DANE
4 FaAA DANE

[Question ID = 203][Question Description = 113_0_GP14_0CT22_52_Q13]
1 [Option ID = 809]
2 [Option ID = 810]
3 [Option ID = 811]
4 [Option ID = 812]

AN wnN =

9 .
) Given below are two statements

Statement I: I survey research; even a large sample
gannot guarantee precision.

Statement Il As large samples also do not guarantee
precisien, the researcher need not worry about sampling

ETIOr.

In light of the above statements, choose the
correct answer from the options given below
1. Both Statement | and Statement Il are true

(=]

. Both Statement | and Statement Il are false
. Statement | is true but Statement |l is false

ok

. Statement | is false but Statement || is true



el ey BumE.

HYF - | ; G U H T qeg viaed Hi uRgsd
g =8 & 9@l g

@Y - 1| : F1Te geg Hiaad 4 uREIET 9T 98 o,
el B Wiaa- Fet] & 9K § [Aid 5 B wetd T8l
gl

e DYA| & HSi o FHfcREd el H 8 wel 3w
I -

1. 8YF | 3R || SHT TET 8

2. ®YA | AR I GH TEd B

3. FYT I TRl &, g o | Tea o

4 T | T &, g B 11 9E B

[Question ID = 204][Question Description = 114_0_GP14_0CT22_52_Q14]
1. 1 [Option ID = 813]
2. 2 [Option ID = 814]
3. 3 [Option ID = 815]
4. 4 [Option ID = 816]

10 y = i G
) Find out the correct sequence of writing a qualitative

research repert from the following:
A, The introduction

B. Data collection

C. Findings

D. The research method

E. Discussion

Choose the correct answer from the options given below:
1.ABDCE
2ACEBD
3.ADBCE
4B CADE



Fafafed # 9 s Toneas HIHuH fdas © oed & gat
g B garsd|
A °NET

B, H®ST YR
c, F=pd

D. Y fafg
E. fa=m-famsl

e o e faeedl 5 9 98 IR T
1.ABD,CE
2.ACEBD
3.ADBCE
4.8,C,ADE

[Question ID = 205][Question Description = 115_0_GP14_0CT22_S2_Q15]
1. 1 [Option ID = 817]
2. 2 [Option ID = 818]
3. 3 [Option ID = 819]
4. 4 [Option ID = 820]

11 ; = ) .
) The denptational aspect of a message in communication is

1. Mechanical

2, Ficticnal

3. Value-inclusive
4. Mythical

HHINO H 0¥ ] §O gl 6 7
1. GiF®

2. ®ieud

3. geg-gHaEl

4, GRIUIH

[Question ID = 206][Question Description = 116_0_GP14_0CT22_S2_Q16]
1. 1 [Option ID = 821]
2. 2 [Option ID = 822]
3. 3 [Option ID = 823]
4. 4 [Option ID = 824]

12 = y g B
) The liberation aspect of media communication is known as

1. The individual conflict process
2. The self-righteous process
3. The pain and pleasure process
4, The non-restrictive process



o TOR # Waagaig] P @i ®f fd 9 8 oH Sl § ?
1. 9gfaa® 99y giewar
2. TG Uiear
3. 99Y1 3R g@ @1 vl
4. HdeOTE® Uil

[Question ID = 207][Question Description = 117_0_GP14_0CT22_52_Q17]
1. 1 [Option ID = 825]
2. 2 [Option ID = 826]
3. 3 [Option ID = 827]
4. 4 [Option ID = 828]

13) Communication js the basis of

A, Language rigidity

B. Complexity of modermn life
C. Goal formation

D. Feedback

E, Socialisation

Choose the correct answer from the options given below;
1.4, B and Conly
2.8, Cand D only
3.4, Cand Eonly
4.C, Dand Eanly

FHEy G YR © 7
A, HTST SFEIET

B. 3MY[P Wia- Pl Al
C. Ti&g Ao

D. Wiy
E, GiHMS®T0]

I Gu e famadl § 98l S 9 -
1. @9d A B3R C
2. FadA B, CHRD
3.Fad A CHRE
4, FAACDANE

[Question ID = 208][Question Description = 118_0_GP14_0CT22_S2_Q18]
1. 1 [Option ID = 829]
2. 2 [Option ID = 830]
3. 3 [Option ID = 831]
4. 4 [Option ID = 832]



14 .
) Given below are two statements:

Statement |: At national and international levels,

gommuriication recognises the difference between truth

and falsehood.

Statement II: Propagandas, as a process of communication,
to persuade the masses, does not distinguish between
truth and falsehood.

I light of the above statements, thoose the

correct answer from the options given below:
1. Both Statement | and Statement |l are true
2. Both Statement | and Statemerit Il are false
3. Statement | is true but Statement |l is-false
4. Statement | is false but Statement [l is true

g ey RumE.

Y - | ; TP R SRRIPIY W 0 FaIE ¥ AR 36l
& §9 & AR B GgaHd ol

BUF - || ; TGS o GHE! B TG $I B (070 TR0 B3I
U Uiyl & ©0 & AFTOR 9 3R 9g & s U9E ol
HA B

I Y| B S 5 Head [aeedl 3§ Hel 3w
T -

1. ®YT | 3R | G Tel &

2. YT | 3R | G e g |

3. @Y | |8l &, o Y 1| 7TTd B

4. ®Y | TTeid &, Tobq %A (1 98

[Question ID = 209][Question Description = 119_0_GP14_0CT22_52_Q19]
1. 1 [Option ID = 833]
2. 2 [Option ID = 834]
3. 3 [Option ID = 835]
4. 4 [Option ID = 836]



13) Match List | with List 11

List | List 11

Communication concept

Description

. |, it structures human
A, Referents

EXperiences

Il. Experience in relation to
B. Constructs

objects

lll. Gesture representing an
. Symbeol P g

agreed upon phenomenan
D. Language IV. Objects of orientation

Choose the correct answer from the options given below:
T.A-LB-ILC-M, D-1
ZA-VB-1LC-N,D-1
JA-UB-IV,C-1,D-1
4 A-1LB-ILE-IVD-1

e -1 1 -1l e B ;

gl - gl -1l

TaR §@edAl  (quiH

A Fezg \. T8 WG S4aal @1 eitéd sl sl
B.aE-fam |, foual § g ave

C. udim 1. e gieger o1 ufaHftaer dod
D. HI9T . g & faug

- feu e fawed! & § wel ST

T.A-L,B-Wl,E-IV, B-1ll
ZA-IV,B-1l,C-If B-|
SA-ULGB-IV, G- D=1
4A-0,B-l,C-V, B-|

[Question ID = 210][Question Description = 120_0_GP14_0CT22_S2_Q20]
1. 1 [Option ID = 837]
2. 2 [Option ID = 838]
3. 3 [Option ID = 839]
4. 4 [Option ID = 840]

16) A tradesman sold an artidle at a loss of 20%. If the selling

price had been increased by 3100, there would have been
a gain of 5%, What was the cost price of the article F)7
1,250
2.300
3,330
4,400



TP AN A U@ a5 B 20% B1F X 94911 3 A g .
100 91 o BIe, & 5% &1 oY 81 9i1dl | 9% &1 64 e
(&) T ?

1.250

2.300

3.350

4.400

[Question ID = 211][Question Description = 121_0_GP14_0CT22_S2_Q21]
1. 1 [Option ID = 841]
2. 2 [Option ID = 842]
3. 3 [Option ID = 843]
4. 4 [Option ID = 844]

17) Find the missing term in the series given below:
2,5 28, 17, 7, 37, 344,.

.125

. 128

. 126

. 124

B ST s

<2 1 v s 1 g G 0 IR 2
2,5 28 17,737,344, - —- -
1.125
128
. 126
124

M

o

[Question ID = 212][Question Description = 122_0_GP14_0CT22_S2_Q22]
1. 1 [Option ID = 845]
2. 2 [Option ID = 846]
3. 3 [Option ID = 847]
4. 4 [Option ID = 848]

18) {f'GOODNESS' Is toded as 'HNPCODTR!, then how can

"GREATNESS' be coded in that code?
1. HQFZUMERT
2. HQGZUNFRT
3. HQFZMURFT
4, HFQUZMFRT

4% 'GOODNESS' @ ®I8 'HNPCODRT fgar @ g, a
‘GREATNESS' i @1 €] IS [od] ol Yhdl & 7

1. HQFZUMEFRT

2. HQGZUNFRT

3. HQFZMURFT

4. HFQUZMFRT



[Question ID = 213][Question Description = 123_0_GP14_0CT22_S2_Q23]
1. 1 [Option ID = 849]
2. 2 [Option ID = 850]
3. 3 [Option ID = 851]
4. 4 [Option ID = 852]

19) There are fifteen people in a conference and all of them

shake hands with each other only once at the end of the
conference. How many hand shakes will be there
altogether?

1.210

2,105

3.90

4. 225

U@ G0 | 15 104 & SN GHIeH & 31§ 941 afad
T® GOk 4 Bac UF 9K o8 3P B & (@1 [Hee 8) | ©a
e S es ST el 2

1.210

2.105

3.90

4,225

[Question ID = 214][Question Description = 124_0_GP14_0CT22_S2_Q24]
1. 1 [Option ID = 853]
2. 2 [Option ID = 854]
3. 3 [Option ID = 855]
4. 4 [Option ID = 856]

20) The population of a town increases 5% annually. Ifits

present population is 84,000, what will be its population in
2 years time?

1. 92660

2.92560

3.92610

4. 92600

T e} @I JEla] | Al dies 5% & | UiG 9] aaH-
STETG1 84,000 &, 1 2 99 U 39! S&Tal fda-l gl 7
1.92660
2. 92560
3.92610
492600

[Question ID = 215][Question Description = 125_0_GP14_0CT22_52_Q25]
1. 1 [Option ID = 857]
2. 2 [Option ID = 858]
3. 3 [Option ID = 859]
4. 4 [Option ID = 860]



21 I
) if the statement ‘No men are honest' is given as false, then

which of the following could be immediately inferred from
it?

A, 'All men ars honest' istrue

B. 'All men are honest' is undetermined
C. ‘Some men are not honest’ is frue

D. 'Some men are honest’ is true

Choose the correct answer from the options given below:,
1.4, Cand Donly
2.B, Cand D only
3.4 and D anly
4. B and D only

a7 g8 By Biz i fad SHHER T8l o0 @1 e 1641 T
g aa e & © e arenios ar o) Era faar s
Tpdie:

A, T e SAHER B, S

B. Qi &fad saHeR &, afeffa &
C. PO oiad SAFGR Tl o, 80 &
D.'58 Ak sOFER &, 0 8

i fou e faded § @ 98] S 9 ;
1. @90 A, CHR D
2. Fad B, C 3R D
3. @IAASRD
4 FAABSARD

[Question ID = 216][Question Description = 126_0_GP14_0CT22_52_Q26]
1. 1 [Option ID = 861]
2. 2 [Option ID = 862]
3. 3 [Option ID = 863]
4. 4 [Option ID = 864]



22 .
) Given below are two statements

Statement |: Contrary statements are so related that if one
of them is true, the other must be false.

Statement II: Contrary statements cannot beth be false,

In light of the above statements, choose the

correct answer from the options given below';
1. Both Statement | and Statemenit Il are true
2. Baoth Statement | and Statement | are false
3. Statement | is true but Statement || is-false
4. Statement | is false but Statement [l is true

Jagl ey Bum s,

Y - | [gdiaTde ou 59 TeR ddfid g [ we o |
U@ Tol & a9 gul AT ITerd sl
Y - || ; [Tiar® $4= aH 194 98] 8l 9@d 8l

Iuad BYAl & HIE® & FEiad [admedl 3 4 Gal 3t
-

1. YA | 3R || GHI T8l 81

2. ®YF | AR 1 GH a8 |

3. PY I TR & g pua | o B

4, TYF | o &, g B4 1| Tl o

[Question ID = 217][Question Description = 127_0_GP14_0CT22_S2_Q27]
1 [Option ID = 865]
2 [Option ID = 866]
3 [Option ID = 867]
4 [Option ID = 868]

AN wnN -

23 -
) Given below are two statements:

Statement I: No immediate inference can ever be drawn
from only one premise,

Statement II: In Aristotelian syllogism, the conclusion is
drawn from the first premise through the mediation of the
second.

In light of the above statements, choose the

correct answer from the opticns given below:
1. Both Statement | and Statement Il are true
2. Both Statement | and Statemenit 1l are false
3. Statement | is true but Statement Il is-false
4, Statement | is false but Statement [ is true



el ey BumE.

HYT - | - Haw UF HUREE § BH U6 qo [H6Y 78]
=G T R GaT

HY - || : IR & GEaTed H BYH AYRaE 4 g
Y RATH &1 HedT 9 e e o g

e DYA| & HSI® H FHfciad el H 8 Uel 3w
o -

1. 99T | 3R 1 SR T R

2. @Y | 3R 1 G e & |

3. BY I TR g pua 1 Tad B

4. YT | 7T &, [9=g BYA (| T8 o

[Question ID = 218][Question Description = 128_0_GP14_0CT22_52_Q28]
1. 1 [Option ID = 869]
2. 2 [Option ID = 870]
3. 3 [Option ID = 871]
4. 4 [Option ID = 872]

24) Which of the following pramana (means of knowledge) is

defined as the knowledge of the relation between a word
and its denotation?
1. Verbal Testimony (sabda)
. Comparison (Upamana)
. Inference (Anumana)

B S s I

. Perception [Pratyaksa)

Pafafag # 3 o9 9 v=0 (§F &1 918) 9 s Ud 389
f59H & 9 999 & 39 & oR IR ukyitE fear

1. ez

2. IUAF

3. 3FEH

4. UeTe

[Question ID = 219][Question Description = 129_0_GP14_0CT22_S2_Q29]
1. 1 [Option ID = 873]
2. 2 [Option ID = 874]
3. 3 [Option ID = 875]
4. 4 [Option ID = 876]

25) In which of the following types of anumana (inference) the

middle term is both positively and negatively related to the
migjor term?

1. Kevalanvayi

2. Kevalavyatireki

3. Anvayavyatireki

4. Samanyatodrsta



T i eH-0 UPR & 30F 4 99 Ug, JqE 9e 9

TENRIHS dR TERAS o e g gsiid g 7
1. SgaFas
2. HaaEae
3. sFaOa®
4. HEFIGEY

[Question ID = 220][Question Description = 130_0_GP14_0CT22_S2_Q30]
1. 1 [Option ID = 877]
2. 2 [Option ID = 878]
3. 3 [Option ID = 879]
4. 4 [Option ID = 880]

2 : .
6) In the context of data stored in a computer, what is a byte?

1. it is the smallest unit of data that a computer can deal
with;

2. A group of binary digits, usually sight, that a
computer usually deals with.

3. & group of variable bits of data, that a computer
usually deals with depending on the architecture of
the processor,

4. A byte consists of 4 bits.

il g HiUSiRa [Ge R Ser b ded Hage A1 8 7

1.7 ST 31 TYTH 3915 5, 5198 WY $ge B 51
godal gl

2. fgsnumd ool @ e, O 18, ol &R
AR W HH Bdl 8

3. 321 & GREd| [acH Bl g, [oied HFel arEr:
TR & ffftecaar O3 X &vd gt &1 BRal 6

4 THEEC A 4 Eg B B

[Question ID = 221][Question Description = 131_0_GP14_0CT22_S2_Q31]
1. 1 [Option ID = 881]
2. 2 [Option ID = 882]
3. 3 [Option ID = 883]
4. 4 [Option ID = 884]

27) Which of the following is the most appropriate format for

graphics that are to be embedded within an Internet
decument?

1.BMP

2. TIFF

3. PNG

4. HTML



fFRiafad § ¥ ©F 9 Bic (H1E) 31 Ahha / ea! &
fore gaffie Suged & el Sete awdl (SEE=) §
aFfed fear s e ?

1. BMP

2. TIFF

3. PNG

4, HTML

[Question ID = 222][Question Description = 132_0_GP14_0CT22_S2_Q32]
1. 1 [Option ID = 885]
2. 2 [Option ID = 886]
3. 3 [Option ID = 887]
4. 4 [Option ID = 888]

28) Which of the following is/are the aim(s) of the 'Digital
India’ plan of Government of India?

A, Form India's own Internet companies just like China did,

B, Establish a policy framework to encourage overseas
multinational corporations that collect big data to build
their large data centres within our national geographical

boundaries,

C. Connect many of our villages to the Internet and bring
Wi-Fi to many of our schogcls, public places and major

tourist centres;

Choose the correct answer from the options given below;
1.A and B enly
2. Conly
3.B and Conly
4 A BandC



e 7 § ST/ DI HRT WOR D1 [Seed 31591
Ao /P IETe /82

A, I @] d¥E HRd 31 990 B 3ei4¢ HaT] @l HETT
T

B. BHRI 191 Hiwfiiere Wiredl & Hiok 95 Sel Ui o
a[c G156 © agUpHd UHl B 39 85 Sl B &4 B ol
Ticled B4 6q U@ Al TUwWal &) |-l B4

C. BOR §gd 4 TMal Bl g2t § PAae T & 3R 6N

I faeTerdl, TS ST SR U The diel | aT8-
B gl

i fou e faded § @ 98] S 9 ;
1. 3G90 A AU B
2.@adC
3. @ad e AR C
4 FAAABIARC

[Question ID = 223][Question Description = 133_0_GP14_0CT22_52_Q33]
1. 1 [Option ID = 889]
2. 2 [Option ID = 890]
3. 3 [Option ID = 891]
4. 4 [Option ID = 892]

29) Many mebile phones can now record digital video and

sound. In this context, identify the correct-order of some of
the words A-E given below to complete the following
paragraph:

Mohile phones have an in-built to record sound.

Sound isinput in format and is'then converted into

format so it can be stored in the phone's memory.,
A, analog
B. memory
C. digital
D. microphone
E speaker

Choose the correct answer from the options given below;
1.B.CA
2.EDEB
5.0 4 C
4.4 8 C



T AEST B MY (Sioed giieal SN W& B NS B
TFd 61 39 dod F Fefetea TR o W e & e ae
fGU T ©3 Weal A-E & Gol B9 @1 Ge gl B
AiaTsd BiF § G & Res o & - faHEd

G s - A— BIHE H 342 B § R 59D aG--—----
--pife H gitafdd @l & alid 34 BiA @ HERI H €
s s |

A, TATEIRT

B, H9RI

C. T&ferea

D. AEHIBH
E, Wi@me

ra fau e faeel § 9 W8l W T -
1.B,.CA
2.E,D,B
3.DAC
4.4 B C

[Question ID = 224][Question Description = 134_0_GP14_0CT22_52_Q34]
1. 1 [Option ID = 893]
2. 2 [Option ID = 894]
3. 3 [Option ID = 895]
4. 4 [Option ID = 896]

30 Which one of the following statements is true about flash

memory technology?

1. It has ne moving parts and consumes very little power,

2. It operates using read-write heads and is used to store
data.

3. It has ne moving parts and requires a large power
supply to operate.

4. It operates using read-write heads and consumes very
little power,

FafaRed H § @ oy W= HAR1 ol @ gl H

wele?

1. 594 BI% 4l §90 UL H A6l 814 & 31X ggd BH (Gl
Gageieeit F s

2. JE ASISE 65U Bl ULl ©d gL UNdaIeH Bl 6
R ST & HSRY & oy wga fovdn < g1

3. 594 ®is W T90 UY el 6ld & HAX gRAeH & g
T g3 faal STl &1 Ha=EGdl sl 6l

4 Tg JISSE o84 @1 IUTN ®id gu Ui &idl &
3R 9gd HH faec 1 9ugn Bl gl

[Question ID = 225][Question Description = 135_0_GP14_0CT22_S2_Q35]
1. 1 [Option ID = 897]



2. 2 [Option ID = 898]
3. 3 [Option ID = 899]
4. 4 [Option ID = 900]

1 .
3 Given below are two statements

Statement |: Increased carbon dioxide concentration in
the ambient atmosphere is likely to make the world's'
oceans less acidic,

Statement II: Increased carbon dioxide concentration in
the ambient atmosphere is likely to impact the coral reefs
adversely.

It light of the above statements, choose the

correct answer from the options given below:
1. Both Statement | and Statement Il are true
2. Both Statement | and Statemnent 1l are false
3. Statement | is true but Statement |l isfalse
4, Statement | is false but Statement [ is true

WY - | : UG SIarERl § DiE- Sis HI5s & Yhgu o
g3 B R 94 & THzI H 3% & $H gl ®] 9HE B

HYF - || ; Tiael aaeT | @ad 315 SEEs & 9l
H g3 B W HIT-ID (BHRG-U%) R Aides U+ s @i
Y 8l
Iulad Byl @ e 3 FEieiad [Goedl H 8 Hel 9wt
-

1. ®Y9 | 3R |1 GF TBI €l

2. YT | AR g T B

3. PY I TR & g pua 1 o B

4 TYF | Tod &, fog B4 1| Tl

[Question ID = 226][Question Description = 136_0_GP14_0CT22_S2_Q36]
1. 1 [Option ID = 901]
2. 2 [Option ID = 902]
3. 3 [Option ID = 903]
4. 4 [Option ID = 904]

32) Which of the following states has the maximum instaliable

potential (in MW) of wind energy in India?
1. Rajasthan
2. Maharashtra
3. Gujarat
4. Tamil Nadu



YRq H Mg g ed H 994 Gol @) 98y AU
TR AT @mae) 3 2

1. TFH

2. FENTE

3. T

)
4. diAcTg

[Question ID = 227][Question Description = 137_0_GP14_0CT22_S2_Q37]
1. 1 [Option ID = 905]
2. 2 [Option ID = 906]
3. 3 [Option ID = 907]
4. 4 [Option ID = 908]

33) Given below are two statements
Statement I: Thermal pollution has no adverse impact en
aguatic life.
Statement II: Aquatic organisms easily adapt to rapid
temperature changes.
I light of the above statements, thoose the
correct answer from the options given below:
1. Both Statement | and Statemerit |l are trie
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is-false
4. Statement | is false but Statement [l is true
dra gl e RE e e

WY - | : TG UGYY @1 S Siad IR By Wiadd WHId
EHREGI]

TY - || : FET WG, AT AT B A9HE 1§ on 9 el 6
uftad & e AEH G S B

e DYA] & HGH H FHfcRad [adbedl H § Wel 3
-

1. 94T | R 1 ST EET R

2. ®YF | 3R 11 GH T & |

3.BY | U ©, fdd By 117 6 |

4, BYF | 5E B, g &Y 1| 981 B

[Question ID = 228][Question Description = 138_0_GP14_0CT22_S2_Q38]
1. 1 [Option ID = 909]
2. 2 [Option ID = 910]
3. 3 [Option ID = 911]
4. 4 [Option ID = 912]



34) The targets under the National Solar Mission envisaged

A, creating favourable conditions for selar manufacturing
capability.

B. achieving 15 million sgquare meters thermal collector
area by 2022,

C. deploying 20 million solar lighting systems for rural
areas by 2022,

D. achieving the target of mesting at least 50% of
household energy demand through solar power by 2022

Choose the correct answer from the options given below:;
1. A and Conly
2. B and D orily
3.B, Cand D only
4. A and B enly

PTG UR Y & ded [Haifeiad aaal ol gieedr o 713
27
A, R fafaio e & o sga FRufoal &1 9o s

g, Y 2022 d@ 15 [Afergs 7 diex SR a1d Soget &3 &1
[T T B

C. 99 2022 T JH9 &4 & fog 20 (AT OR ugiaa
g @ g B

D. 99 2022 T% SR Sl & A9 & Ie &l 1 &9 4 5F
50% AR & Tgd & R AT

d feu 71¢ fadedl 4 4 96l IR 91 -
1. HAAARC
2, FAAB AN D
3, Pad B, CHRD
4 FaTAHRB

[Question ID = 229][Question Description = 139_0_GP14_0CT22_S2_Q39]
1. 1 [Option ID = 913]
2. 2 [Option ID = 914]
3. 3 [Option ID = 915]
4. 4 [Option ID = 916]



35 5
) Given below are two statements:

Statement |: Chemical fertilizers can cause nitrate
pollution in water.

Statement II: Nitrate pollution in drinking water generally
affects children more than the adults.

In light of the above statements, choose the most
apprapriate answer from the options given below:
1. Both Statement | and Statement |l are correct
2. Both Statement | and Statemerit || are incorrect
3. Statement | is correct but Statement |l is incorrect
4. Statement | is incorrect but Statement |l is correct

Tasiar U E:
WY - | : VU RGB! U o9 | Aigce UgHY ol ol gl

HYF - || ; T 9 H F13eE UgNU § G W aU! B
HUE &= U% 2% UHE USal &

ST DU P HE® 9 HEead e | § el 9wt
T -

1. WY | 3R |1 GH Dol 8l

2. YT | AR | g TS B

3FYT I g e, fFg @ I TEa B |

4. ®YF | SEG © , (g DY 1| Hal &l

[Question ID = 230][Question Description = 140_0_GP14_0CT22_52_Q40]
1. 1 [Option ID = 917]
2. 2 [Option ID = 918]
3. 3 [Option ID = 919]
4. 4 [Option ID = 920]

36) Match List I with List 11

List | List Il

Subject of Study Domain of
Study

A, Anviksiki I. Etymaology

B. Shiksha Il. Interpretation

C. Mimamsa lll. Logic

D. Nirukta IV. Phanetics

Choose the correct answer from the options given below:
TA-UIB-1,C-1lLD-IV
ZA-NLB-IVC-Il,D-1
FA-VB-NILC-L,D-1
AA-N,B-LC-IVD-I
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TA-N,B=1,E-]I, D-1V
ZA-LB-IV, G- B-|
SA-IV B-II, G-I, D-1I
4 A-B-E= IV, -1

[Question ID = 231][Question Description = 141_0_GP14_0CT22_S2_Q41]
1. 1 [Option ID = 921]
2. 2 [Option ID = 922]
3. 3 [Option ID = 923]
4. 4 [Option ID = 924]

37) According to NEP (2020), the fundamental principles that

will guide both the education system at large and
individual institutions within it are:

A, Ethical, human and constitutional values'
B. Extensive use of technology

C. Emphasis on conceptual understanding
D. Creative and eritical thinking

E. Substantial investment in strong, vibrant, private
education system

Cheose the correct answer from the options given below;
1.4, B and Conly
2.4 C DandE only
3.4 B Cand Donly
4 ABCDandE
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[Question ID = 232][Question Description = 142_0_GP14_0CT22_S2_Q42]
1. 1 [Option ID = 925]
2. 2 [Option ID = 926]
3. 3 [Option ID = 927]
4. 4 [Option ID = 928]

38) Which of the following are among the institutions involved

in intiating NPTEL?
A, IIT, Bombay

B. IIT, Dethi

C. IIT, Kanpur
D.IIT, Rohtak

E sC

Choose the correct answer fraom the options given below;
1.A B CandD
2.8, C, DandE only
3.A B CandEonly
4 4 C DandE only



T deRi F e . 0. 3. 5. ta. ST uga |
M R T 2

A 5. oS, €1, s

B. 715, ¥, 1., vl

C. 5. 315, €1, AR
D. 378, 8. &, Jgaw
E, 315, 3718, 4. 9.

7 8T 7TE fadedl § 8 U8 SR 9 -
1.AB,C.D
2.B,C,DE
3.A,BCE
4.A,CDE

[Question ID = 233][Question Description = 143_0_GP14_0CT22_S2_Q43]
1. 1 [Option ID = 929]
2. 2 [Option ID = 930]
3. 3 [Option ID = 931]
4. 4 [Option ID = 932]

39) Which of the following statements are correct about

distance education?

A, It reduces cost of imparting education
B. It replaces formal education

C. It enhances access to education

D. It provides an oppertunity for upgradation ef skills and
gualification

E. It is governed by National Board of Accreditation (NBA)

Choose the correct answer from the options given below;
1.4, Cand E only
2.B, Cand D only
3.4 Cand Denly
4.4 DandEonly
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[Question ID = 234][Question Description = 144_0_GP14_0CT22_52_Q44]
1. 1 [Option ID = 933]
2. 2 [Option ID = 934]
3. 3 [Option ID = 935]
4. 4 [Option ID = 936]

40) As per the 121" Five Year Plan (2012-2017), percentage of

the Indian werkforce in the age group of 19-24, receiving
formal voeational education is:

1. Less than 7 %

2. Lessthan 5%

3. Less than 4 %

4. Less than 6 %

TREdl dgadg giel (2012-2017) B IR 19 H24 a8 &
31 G4E § 4Rd & (da- Ufaed #HER| 4 dgaiie
e [T I8 @i § 7

1.7 UEd 9 59

2. 5T 4 &9

3404 &9

4 6RO o4

[Question ID = 235][Question Description = 145_0_GP14_0CT22_S2_Q45]
1. 1 [Option ID = 937]
2. 2 [Option ID = 938]
3. 3 [Option ID = 939]
4. 4 [Option ID = 940]

Topic:- GP_220CT_S2_C



Read the given passage and answer the five questions
that follow

The relationship between democracy and peace could be a
praduct of the fact that both democracy and peace share a
common cause. What could this common cause be? One
possibility is economic development, There is a strong
tendency for democracy to emerge and survive in states
that are relatively wealthy: in poorer countries by contrast,
demuocratic institutions are more likely to break down, While
there is no general tendency for wealth alone to promote
peace between countries, there is evidence consistent with a
‘capitalist peace’ among countries with free-market
economies,

Another possibility is that peace causes demogracy - that
democracy is more likely to emerge in regions where
countries already have peaceful relations with one another.
A menacing international environment and threats to the
state's territory tend to empower the central government
and the military, making it hard for democracy to take root.

Thus, democracy is more likely to emerge after states have
settled outstanding rivalries and territorial disputes with
their neighbours. If so, then it is peaceful borders that make
democracies, not vice-versa. Finally, it has been argued that
democratic peace is really a product of shared strategic
interests among democratic states that have nothing to da
with-their demiocratic institutions. From the late ninetesnth
century onwards; the main demuocratic countries were
united against common threats: Such common interests
reduced the opportunities for conflict between democratic
states, It also provided a strong incentive to resolve
peacefully conflicts that did arise.

The strong link between democracy and peace is the
possible outcome of

1. Institutional support

2. Comman conflicts

3. Economic development

4. Strong institutional system
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[Question ID = 236][Question Description = 146_0_GP14_0CT22_S2_Q46]
1. 1 [Option ID = 941]
2. 2 [Option ID = 942]
3. 3 [Option ID = 943]
4. 4 [Option ID = 944]



2)

Read the given passage and answer the five questions
that follow

The relationship between democracy and peace could be a
praduct of the fact that both democracy and peace share a
common cause. What could this common cause be? One
possibility is economic development, There is a strong
tendency for democracy to emerge and survive in states
that are relatively wealthy: in poorer countries by contrast,
democratic institutions are more likely to break down, While
there is no general tendency for wealth alone to promote
peace between countries, there is evidence consistent with a
‘capitalist peace’ among countries with free-market
economies,

Another possibility is that peace causes demogracy - that
democracy is more likely to emerge in regions where
countries already have peaceful relations with one another.
A menacing international environment and threats to the
state's territory tend to empower the central government
and the military, making it hard for democracy to take root.

Thus, democracy is more likely to emerge after states have
settled outstanding rivalries and territorial disputes with
their neighbours. If so, then it is peaceful borders that make
democracies, not vice-versa. Finally, it has been argued that
democratic peace is really a product of shared strategic
interests among democratic states that have nothing to da
with-their demiocratic institutions. From the late ninetesnth
century onwards; the main demuocratic countries were
united against common threats: Such common interests
reduced the opportunities for conflict between democratic
states, It alzo provided a strong incentive to resolve
peacefully conflicts that did arise.

The evidence suggests that free-market economies have

1. The tendency to accumulate wealth.

2. Capitalist peace,

3. The wealth to promote peace in the poor regions.
4. The wealth to cause conflicts.
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[Question ID = 237][Question Description = 147_0_GP14_0CT22_S2_Q47]
1. 1 [Option ID = 945]
2. 2 [Option ID = 946]
3. 3 [Option ID = 947]
4. 4 [Option ID = 948]



3)

Read the given passage and answer the five questions
that follow

The relationship between democracy and peace could be a
praduct of the fact that both democracy and peace share a
common cause. What could this common cause be? One
possibility is economic development, There is a strong
tendency for democracy to emerge and survive in states
that are relatively wealthy: in poorer countries by contrast,
demuocratic institutions are more likely to break down, While
there is no general tendency for wealth alone to promote
peace between countries, there is evidence consistent with a
‘capitalist peace’ among countries with free-market
economies,

Another possibility is that peace causes demogracy - that
democracy is more likely to emerge in regions where
countries already have peaceful relations with one another.
A menacing international environment and threats to the
state's territory tend to empower the central government
and the military, making it hard for democracy to take root.

Thus, democracy is more likely to emerge after states have
settled outstanding rivalries and territorial disputes with
their neighbours. If so, then it is peaceful borders that make
democracies, not vice-versa. Finally, it has been argued that
democratic peace is really a product of shared strategic
interests among democratic states that have nothing to da
with-their demiocratic institutions. From the late ninetesnth
century onwards; the main demuocratic countries were
united against common threats: Such common interests
reduced the opportunities for conflict between democratic
states, It also provided a strong incentive to resolve
peacefully conflicts that did arise.

Democracy will flourish in couritries that have

1. A strong military

2. A powerful central government

3. Territorial issues

4. Peaceful relations with each other
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[Question ID = 238][Question Description = 148_0_GP14_0CT22_S2_Q48]
1. 1 [Option ID = 949]
2. 2 [Option ID = 950]
3. 3 [Option ID = 951]
4. 4 [Option ID = 952]



4)

Read the given passage and answer the five questions
that follow

The relationship between democracy and peace could be a
praduct of the fact that both democracy and peace share a
common cause. What could this common cause be? One
possibility is economic development, There is a strong
tendency for democracy to emerge and survive in states
that are relatively wealthy: in poorer countries by contrast,
democratic institutions are more likely to break down, While
there is no general tendency for wealth alone to promote
peace between countries, there is evidence consistent with a
‘capitalist peace’ among countries with free-market
economies,

Another possibility is that peace causes demogracy - that
democracy is more likely to emerge in regions where
countries already have peaceful relations with one another.
A menacing international environment and threats to the
state's territory tend to empower the central government
and the military, making it hard for democracy to take root.

Thus, democracy is more likely to emerge after states have
settled outstanding rivalries and territorial disputes with
their neighbours. If so, then it is peaceful borders that make
democracies, not vice-versa. Finally, it has been argued that
democratic peace is really a product of shared strategic
interests among democratic states that have nothing to da
with-their demiocratic institutions. From the late ninetesnth
century onwards; the main demuocratic countries were
united against common threats: Such common interests
reduced the opportunities for conflict between democratic
states, It alzo provided a strong incentive to resolve
peacefully conflicts that did arise.

Democratic peace is ensured by

1. Active domestic institutions
2. Commonly perceived threats
3. International environment

4. Comman strategic alliances
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[Question ID = 239][Question Description = 149_0_GP14_0CT22_S2_Q49]
1. 1 [Option ID = 953]
2. 2 [Option ID = 954]
3. 3 [Option ID = 955]
4. 4 [Option ID = 956]



5)

Read the given passage and answer the five questions
that follow

The relationship between democracy and peace could be a
praduct of the fact that both democracy and peace share a
common cause. What could this common cause be? One
possibility is economic development, There is a strong
tendency for democracy to emerge and survive in states
that are relatively wealthy: in poorer countries by contrast,
demuocratic institutions are more likely to break down, While
there is no general tendency for wealth alone to promote
peace between countries, there is evidence consistent with a
‘capitalist peace’ among countries with free-market
economies,

Another possibility is that peace causes demogracy - that
democracy is more likely to emerge in regions where
countries already have peaceful relations with one another.
A menacing international environment and threats to the
state's territory tend to empower the central government
and the military, making it hard for democracy to take root.

Thus, democracy is more likely to emerge after states have
settled outstanding rivalries and territorial disputes with
their neighbours. If so, then it is peaceful borders that make
democracies, not vice-versa. Finally, it has been argued that
democratic peace is really a product of shared strategic
interests among democratic states that have nothing to da
with-their demiocratic institutions. From the late ninetesnth
century onwards; the main demuocratic countries were
united against common threats: Such common interests
reduced the opportunities for conflict between democratic
states, It also provided a strong incentive to resolve
peacefully conflicts that did arise.

The focus of the passage is to find out

1. Reasons behind conflicts

2. Measures to prevent conflicts

3. The relation between peace and demogcracy
4. The issuss of poverty in.a democracy
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[Question ID = 240][Question Description = 150_0_GP14_0CT22_S2_Q50]
1. 1 [Option ID = 957]
2. 2 [Option ID = 958]
3. 3 [Option ID = 959]
4. 4 [Option ID = 960]






